10.11 Quadratic Linear Systems Graphically.notebook April 24, 2018

DO NOW:

1) What is slope-intercept form of a line?
y=mx+Db
2) Convert the following into slope-intercept form:

3y =6x-9 2x -y =4 4y -2x =8
y=2x-3 y=2x-4 y = (1/2)x + 2
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Quadratic-Linear Systems: consist of a quadratic equation
(y = ax2 + bx + ¢) and a linear equation (y = mx + b)

y=x2-x-6
y=2x-2

The solution to a quadratic-linear system is the set of
ordered pairs where the equations intersect each other.

Two Solutions One Solution

(two points of intersection) (one point of intersection)

No Solutions

=

(no points of intersection)

none

=)
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State all coordinates for which f(x) = g(x): -
o
A
A
f(x) =x2+2x + 1 /J{ ' ‘E\
g(x)=2x+5 { Vi
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